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1.Where can you enter a rounding profile? Note: There are 2 correct answers to this question.
A. Lot-sizing procedure

B. Purchasing info record

C. Source list

D. Material master

Answer: BD

2.What is the definition of an opening horizon?

A. The time available for the MRP run to convert a requirement into a schedule line or a planned order
B. The time available for the MRP run to convert requirements into purchase requisitions or planned
orders

C. The time available for the MRP controller to convert a purchase requisition into a purchase order or a
schedule line

D. The time available for the MRP controller to convert a planned order into a purchase requisition or a
production order

Answer: D

3.Which of the following procurement proposals can be created during an MRP Live planning run for
externally procured materials? Note: There are 2 correct answers to this question.

A. Planned order

B. Purchase order

C. Delivery schedule line

D. Purchase requisition

Answer: CD

4 Which of the following tasks does the system perform during reorder point planning? Note: There are 2
correct answers to this question.

A. Flag materials that have been subject to an activity relevant to MRP

B. Carry out a lot-size calculation for every material with net requirements

C. Carry out a net requirement calculation for every material included in the planning run

D. Perform backward scheduling to determine the availability dates of purchase requisitions

Answer: B C

5.What does SAP S/4HANA use to determine the sequence in which materials are planned?
A. Source list

B. MRP group

C. Low-level code

D. Quota arrangement

Answer: C
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